Deceumver 5, lY94e

Degr Ur Diecombe,

Yes, &8 you thought, your problem is guite & stralghtforward
one, though a little confusing owing to the faoters which snter into
it, e.¢., the number of leuscoytes lp estimated to be n, but thia ia
haged on & count, not of n but of & ocellg observed in the hremo=-

cytometer. The varlanoe of a 12 8, sc the varlance of n la
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and the varlance of log n 1is simply
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If p is the propertion of A purtioular kind of leucocyte

nhuurynd im a sample of b, then tThe sagpling variance of p 1@, me
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As o and p have besn estimated indepsndently, we may now say that
the sawpling variance of the log of the absolute sstimate np ia
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Multiply/this by the aquare of the estimatsd np will give the

sampling variance of this estimate.

I have set the above out in full, ns I thought you would
prefer to see tho detalled working to my sending you & dogmatla
formula, which hus the disadvantage that its symbolism may ba

risunderstocd.
Iours aincerely



